MONTERINGSBESKRIVNING

ARTIKEL: LAP

M485-1

1936

-

Montera plastgliden (5st) i foten
Mount the plastic glides (5pcs) in the foot

Montera ihop ben med fot och éverdel
Anviand MF6S M6x20, drag at skruven
hart

Mount leg, foot and top plate together
using MF6S M6x20

Tighten the screws hard

A Placera bordsskivan med baksidan upp
Placera stativet ovanpd

Place the table top with the backside up
Place the stand on top

Kompaktlaminat / Compact laminate
Montera bordsskivan med MF6S M5x12
Mount the table top using MF6S M5x12

Fanér / Vaneer
Montera bordsskivan med STRX 5,0x17
Mount the table top using STRX 5,0x17

A Vand bordet
Turn the table

\ 2017-05-30




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


